149 Ramesh walked 3 km, towards West and turned to his left and walked 2 km
?_ ~then turned to his right and walked 3 km. Finally, he turned to his right again qpgq
' walked another 2 km. In which direction is Ramesh from his starting point now?

(a) East (b) West (c) North (d) South

while she turns to her right. After

'50. Deepa starts walking towards north and after a
: alks a distance of 1 km. She thep

walking some distance, she turns to her left and w
she moving now?

turns to her left again. In which direction
(c) East (d) South

_(a} North _ (b) West

51 . Raman starts walking in the mormng facing the Sun. After sometime, he turned tg

the left later again he turned to his left. At what direction is Raman moving now?
(a) East (b) West (c) South (d) North

52. A starts walking towards North turns left, again turns left, turns right, again turns

rlght once again turns left In Wthh direction is A walking now?

[ (a) East (b) South | | (c) West (d) South-East

| 53 X walks southwards and then turns right then left and then right,. In which direction

is he movmg now?
, (a) South (b) North (c) West (d) South-West

54, A man started to walk East. After moving a distance, he turned to his right. After
mowng a dlstunce he turned to his right again. After moving a little he turned in

the end to his left. In which direction was he going now.?
(a) North _ (b) South (c) East (d) West
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o= N @ soun

— —=T s -__ﬂ____-__—___’-_-_____"_-_
oy walks 2 km to East, then tums North-West and walk
o poy watks

S }_ !‘L“_' _leéri he turns

—

ah d_\_;}f_q}ks 5 km. Then again he turns West and walks

S

1T ‘--S;Olitnf : ———————— > AN Walks 2 km. Finally he turns
1 /*ﬁ; th and walks 6 km. In which direction, is he from the starting point? N = oeacaacens
| ""_'_._.-.—.__H __‘_‘_______-___—_-_-____—————_.____.__ -

= /((;Ts?_ th- West (b) South-East (c) North-West  (d) North-East
e — i

Wm a point, walks 2 km towards north, turns towards her right and

walks 2 km, turns right again and walks. What is the direction she is facing now?
(a) East (b) West : () South (d) North

—_— ——

15, shyam was facing East. He walked 5 km %mggg..qu_,.the_n after turning to his right

walked 3 km. Again he turned to his right and walked 4 km. After this he turned

_..'-4""_"-—_-_-_-__._ . . |n."$_;_i_ S o
back. Which direction was he facing at -ﬂt-_gti”rﬁ,e?*f’

e A = W~
() East (b) West () North d South
L ese e T P e
T :.!./
L o

4. Raju is standing facing north. He goes 30 metres ahead and turns left and goes for

[

15 metres. Now he’{tlirfns rféht and goes for 50 metres and finally turns to his right

and walks. In which direction is he heading? :
(a) North (b) East (c) South (d) West

47. Sanmitra starts from his house and walks 3 km towards north. Then he turns right

and walks 2 km and then turns right and walks 5 km, then turns right and walks 2

km and then again turns right and walks 2 km. Which direction is he facing now?

| (@) North (b) South (c) West (d) East npy
Hr"“—‘————-—-—-___ - e — st Tt
xwmu‘s neighbour and he stays 100 metres away towards southeast. Venu is
‘“Mh bour and he stays 100 metres away towards southwest. Khader isVenu's
- neighbour and he stays owards, north-west. Then where is the

4 | ’ —

3 *
N

N



34,

35

36.

38,

40.

41,

L T

Laxman went 15 km to North then he turned West and covered 10 kms. Then pe
turned south and covered 5 kms. Finally turning to East he covered 10 kms. In whicp

direction he is from his house?
(o) East (b) West (c) North (d) South

A man starts from a point, walks 4 miles North, turns to his right and walks 2 mjles,
again turns to his right and walks 2 miles, again turns to his right and walks 2
miles. In which direction would he be now from his startrng pomt? '
(a) North (b) South (c) East ______(d) West

t started walking down a road in the morning facmg the Sun After walkmg for some.
time | turned to my left. Then | turned to my rrght In whlch dlrectlon was | gomg

then 7 » A o -
(a) East (b) West (c) North B(IBESOULDES

Lakshmi walked 2 furlongs north frorn her house__and took a turn to Left cmd
continued to walk another one leometre and FnaLLy she turned Left and reached

the school, Which direction is she facmg now? : : _
(a) West (b) North (c) South - (d) North

You are going stralght first eastwards, then turn to the right, then rrght agcun then

left. In which direction would you be going now?
(a) East (b) West (c) South (d) East

If Ahmed travels towards North from his house,' then to left, then to South_hcev_ering
equal distances in each direction to reach Sohan’s house, in which direction is

Ahmed’s house now?
(a)‘ East (b) South (c) North (d) West

You go North, turn right, then right again and then go to the Left. In which direction |
are you now? , : LTI :

(a) South (b) East - (-c)' West (d) North

I

g

Roopa starts from a point and walks 15 metre towards west, turns Left and waLki/;
12 metre, turns right agaln and walks. What is the direction she is now facing? '
(a) South (b) West _ (c) East ~ (d) North
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axi driver commenced h's Journey from a point and drove 10 km toward north

and turned to his left and drove another 5 km. After waiting to meet a friend here,

= turned to his nght and continued to drive another 10 km. He has covered a
gistance: of 25 km so far but in which d1rect|on would he be now?

(@) SOU'_Ch o) (b) North o (c) Fa__s_t_ S (d) South-east

27’ A walks 3 kms northward and then he Fur_nsﬁle_ft and goes 2 km. He again turns left

| |3o

| 29

|31

|I
l
l
32,

By
2
i

I
feod

F
=
l

and goes 3 km He tu_rilir[ghzl_nd w_alks strcught In Wthh dlrectlon is he walking
nOW? y —— —fhe e e U 180 5 e T
(a) East el s (c) North (d) South

A walks southwards then turns_r_lght then left und then rlght In Whlch dlrectzon 15 .
he from the stortlng pomt?
(a) Southwest (b) East (c) West T

A mon starts . from a pomt walks 15 metres towards East, turns left and walks 10

metres turns nght agcun and walks Towards which direction is he how wdklng?

(a) North (b) East (c) West (d) South

A boy starts walkmg towarde West, he turns r;ght and ugaln he turns right and then

turns left at last. Towards which d:rection is he walklng now?

(u) West (b) North (cl South (d) East

| stand with my nght hand extended snde woys towards South Towards whuch

direction will my back be ?

: (t_:t) North (b] West (c) East. “ (d) South

fa person moves 4 km towards west, then turns nght and moves 3 km and then

: turns rlght and moves 6 km, whlch IS the directions in WhICh he is now movmg?

(a) Eust 7 B (D) West - North (d) South

If Mohan < sees the rising sun behind the ‘temple and the setting sun behind the

m'LWCly station from his house what is the dlre_'ctllon of the temple from the railway
Statlon? L L aa A TR

(u) South "~ (b) North | (c) East (d) West
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A man starts from a point, walk 8 km towards North, turns right and walks 12 k.
Do !

turns left and walks 7 km turns and walks 20 km towards South, turns fight ang

walks 12 km. In which direction is he from the starting point? “_

(a) North (b) South (c) West (@ East

Daily in the morning the shadow of Gol Gumbaz falls on Bara Kaman andm&[e

evening the shadow of Bara Kaman falls on Gol Gumbaz exactly. So in which d"'ﬁctlo?;

is Gol Gumbaz to Bara Kaman?

(a) Easter side (b) Western side (c) Northern side (d) Southern side

. Ashok went 8 km South and turned West and walked 3 km again he tumed pgpy

and walked 5 kms. He took a final turn to East and walked 3 ks . In which directig,

was Ashok from the starting point?

 (a) East (b) North () West . (d) South
22. If X stands on his head with his face towards south, to which direction will his (=&
hand point ? : A, 75 -'
(a) East (b) West (c)North (d) South
23. |drove East for 5 miles then drove North 3 miles, then turned to my left and drove
. for 2 miles and again turned to my left. Which direction am | going now?
'\ (a) South (b) North  (c) West (d) North-west
' 24. If A stands on his head with his face towards north. In which direction will his l=ft
I hand point?
(o) North-East  (b) North (c) East (d) North-West
J - =
25. A car travelling from south covers a distance of 8 km, then turns right and runs 4
~ another 9 kms and again turns to the right and was stopped. Which direction does
T
!

it face now?

(a) South (b) North (c) West (d) East
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1 /sabu is Rahlm s neighbour and his house Is 200 meters away in the north-waest
113 —— i —— tion. J?_Eggh is Rgﬁhﬁiﬂn'n_s_ Egjglliiqur and his house Is located 200 meter away
- couth- wwctlon Gopal is Joseph s nelghbour and he stays 200 meters

/;1,‘59 south-east direction. Roy is GOPGl'S neighbour and his house is located

ay
200 meters away in the north-east dlrect!:_:_:_'n Then where is the positlon of Roys'

b

SR

; house in relation to Babu's? - i
(@) South” -east  (b) south-west (C) North (d) North-east

4 /’ S e L
5, A rourist drives 10 km towards west and turns to Left and takes a drive of another 4

_— km. He then drives towards east another 4 km and then turns to his right and drives
[l Arerwardsheitumsitolnislefband icie el FAMAICH direction is he from
_— the starting point? s i | : - AN s

-~ (a) North (b) East ()West -~ (d) South LT
= ".'-_

,—W walking West. He turned rlgh i 1t again and finally t'urn_eh_ :
st which direction was he 'f = N7
= w (b) South (d) East 73
~16. One evening, Raja gtt.arte e W p}&'gowa’ rd the Sun. After walking a while, he turned
o his right and again to his /rIgEt After walking a whlLe he again turned right. In

which direction is he facing? .
(a) South (D) SRECSTA. -~ (c) West (d) North Ay

17. Five boys A, B, C, D, E, are sitting in a park in @ circle. A is facing South- -West,

D is facing South-East, B and E are rlght opposite A and D respectively and C is
equidistant between D and B. Whlch direction is C facing? B o

L

(a) West (b) South (c) North (d) East
T — = o i)
18 If a man on a mope e

(@) North

2 W AN I R O
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A driver left his village and drove North for 20 km, after which he stoppeg for
_ breakfast. Then he turned left and drove another 30 km, when he stopped for lunch
After some rest, he again turned left and drove 20 kms before stopping for ?Ye_njng
tea. Once more he turned left and drove 30 kms to reach the town Whef_e_hg hud
supper. After evening tea in which direction did he drive? :

(a) West (D} EREGS C— (c) North _(d) South i

A man is facing East, then he turns left and goes 10 m, then turns right and 90955

m_then goes 5 m to the South and from there 5 m to West. In which direction is pe

o

|

from his original place? g “ H

(a) East (b) V_\_:‘e_sg- I ) N o EN BRI (d) S S outh T

From her home Prerna wishes to go to school. From home she goes fco_w_ard_s__h{orth“\‘

and then turns left and then turns right, and finally she turns left and r_eachesx“'
school. In which direction her school is situated with respect to her home? 3

(a) North-East  (b) North-West ~ (c) South-East  (d) South-West R
-

A child walks 25 feet towards North, turns right and walks 40 feet, turns right again

and walks 45 feet. He then turns left and walks 20 feet. He turns left again walks | §
R e = o e O WO
20 feet. Finally, he turns to his left to walks another 20 feet. In which direction is: |

the

child from his sta_rtin__g_ Eo_i_r}t_?_ i b |

(@) North (b) Ssouth  (dWest  (d) East

_..____4_

Raju facing North and moves 20 km, then he turned to his righ£ and moves 20 km |
and then he moves 10 km in North-East, then he turned to his right and moves 20 :
km and then he turned to his right and moves 20 km and again he turned to his Left _ |
and moves 20 km. Now in which direction Raju is facing? a

———

e ——

—

—_—— -

(a) South-East (b) North-East

(c) South-West _(d) North-West
K is a place which is located 2 km away in the north-west direciioﬁ from the capitul
P. R is another place that is located 2 km away in the south-west direction from K.
M is another place and that is located 2 km away in the r_l_ortﬁ-»west direction from
R. T is yet another place that is located 2 km away in the sout_h-wea;.t direc'tién from
M. In which direction is T Lo_catec_:l_in reLa_tion to P? gAY R e

RLON S0 Li e e i i S
(a) South-west (b) North-west  (c) West (d) North

e
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hcm stal’tS from point A and walks 1 km towards south, turns left and walks
e turns Left again and walks 1 km. Now he is facing.

B Then P

~ )_ o (b) West (c) North (d) South-west

~ (a N

1 _ S resh Starts from a pomt walks 2 miles towards south, turns right and walks 11/2
| u

= L 9 turﬂS Left cmd woLkS 1/2 mlLes cmd then he turns back. What is the direction he
N s facmg nO_V\_{"?__ PR L2 s 5

o "”(di East (b_)____ VESt (c) South (d) North

N | A man st(]r‘ts . from a p_o_lnt walks 4 miles towards north and turns left and walks

P m|Les turns r!ght ‘and walks for 3 mlLes and again turns right and walks 4 miles
and takes rest for 30 minutes. He gets up cmd walks strcught 2 miles in the same

-~

d;rectton and turns right and walks one mile. What is the direction he is facing?

e (a) North (b) South (c) South east (d) West

=

e —

1, Arun —n started from point A and walked 10 km East to pomt B then turned to North

8 T and ‘walked 3 km to point C and then turned West cmd walked 12 kms to point D,

" then again turned South and walked 3 kms to point E. In ‘which d:rectnon is he from

i | his: starting point?
| (a) East (b) South (c) West (d) North

5. Astarts from a point and walks 5 kms north, then turns left and walks 3 kms. Then

again turns left and walks 5 km. Point out the dlrectuon in whlch he is going now.
. | (@) North (b) South (c) East (d) West

———

QQGln turns to left runs 5 and then turns to left runs 12 and finally turns to left and

N rusn 6. Now \ what direction is the rat facing?

" iy S 8

~-~_=J“’ East (b) North £ (c) West (d) South
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